HEE023FE A BT ERRRSET (10-124)

B4R AL EORHEE- R | HAT-ERERE | - R | SRR
5025 ZEELES 11 0 0 11
1418 BEELES 12 0 0 12
5046 (EPraEEER] 15 0 0 15
3548 (R 2= 2 0 0 2
3893 ERrE e 3 0 0 3
1084 (RS 2= 0 0 0 0
2052 (R 2= 20 6 1 27
3529 e 16 0 5 21
5812 (EFEEEER] 22 6 0 28
5814 (R 2= 12 0 4 16
6742 (B2 37 0 7 44
6754 ERrE e 45 0 0 45
F105203 | (kP 4 0 0 4
F106042 |  {EPrgEssp] 4 0 0 4
F106180 |  {FPegEEast 27 0 0 27
F106221 By 10 0 5 15
F106226 | (kP 24 0 0 24
F107056 | (kP 28 0 1 29
F108202 |  {kPrsEsas] 30 0 0 30
F109127 |  {EPrsEss] 7 0 0 7
F109128 |  {FFegestst 12 0 0 12
F111031 By 1 0 0 1
F111038 | {EFegesEst 8 0 0 8
F111104 |  {FEFegesEst 35 0 2 37
FI11125 | (FFegestst 16 0 3 19
FI11126 | {EFegesEst 21 1 0 22
F112009 |  {FEFegesEst 7 0 0 7
5039 EZE =5 16 0 0 16
3494 R 1 0 0 1
4227 REZE =5 2 0 0 2
4915 EZE =7 4 0 0 4
1092 REZE =7 0 0 0 0
1275 B 0 0 0 0
2946 EZE =7 14 0 0 14
3295 REZE =7 0 0 0 0
4834 B 2 0 0 2
5808 R 0 0
6653 =R 0 0
6692 R = 10 0 1 11
8142 R 0 0 0 0
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